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: AH=-2878.0 kJ * mol ™"
: AH=-2869.6k] * mol ™'
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( 1) CH3CH2CH2CH3( g) +?Oz( g) -

4C0,( g) +5H,0( 1)
AH=-2878.0k] * mol™
(2)

((CH.) LCHCH,( ) +520,( ) —

4CO,( g) +5H,0(1)
AH=-2869.6k] * mol ™'

CH3CH2CH2CH3( g) =—( CH3) 2CHCH3( g)
AH=-8.4k] * mol™
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(1) CH,CH,CH,CH,( g) +?02( g) —

4C0,( g) +5H,0( 1)
AH=-2878.0kJ * mol™
(2) CH,CH,CH,CH,( g) =

( CH,) ,CHCH,( g)
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AH=-8.4k] * mol™
(3)
1 mol 1 mol
. CO,.
2 NaBH,( s) (D NaBO,( s)
(g 25°C 101kPa 38¢g

NaBH,( s) 21.6 kJ

o

NaBH,( s) +2H,0( 1) =
NaBO,( s) +4H,( g)

38¢g
38g- mol !
NaBH,
21.6 kJ/0.1 mol=216 kJ * mol ™'«
AH < 0 AH =
-216 kJ * mol™ :
NaBH,( s) +2H,0( 1) ==NaBO,( s) +4H,( g)
AH=-216 kJ * mol™

n( NaBH,) = =0.1 mol

NaBH,( s) +2H,0( 1) =—
NaBO,( s) +4H,( g)
AH=-216 kJ * mol™
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! (1) NO,(g) +CO( g) ==NO( g) +CO( g)
P-P  P-0 0=0 P=0 AH=-234kJ * mol™" (2)
/kJ * mol™! 198 360 498 585 fit
CloooMEs
( 'é' o 1134 kJ/mol
POy b)) S, £-368 kJ/mol
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A= 6 Mn( ) +0,( &) —MnO,( 5)
198 kJ = mol™ + 5 x 498 kJ + mol” - ( 12 x A; ) 5202kg l,ln 20
360 kJ * mol ™' +4x 585 kJ * mol™) = — 2982 kJ « N J= mo
mol ™’

:25°C 101 kPa

o

S('s) +0,( g) ==S0,( g)
AH=-297 kJ * mol™

P \8) +50,(g) =——=P,0,(5s) "o
AH=-2982 kJ * mol™

Mn( s) +S('s) +20,( g)

MnSO,( s)
AH=-1065 kJ * mol ™
S0, MnO, MnSO,
(ONC)
4 ® SO,  MnO,
MnSO, :
(1) 2 1molNO, 1 molCO MnO,('s) +S0,( g) ==MnS0,(s) AH
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€O, NO NO,
co . S(s)
(2) 0,( g
( S(s)  0,(g) ®-D-
@ :
) o
(1) 1 mol NO, 1 mol CO MnO,( s) +S0,( g) ==MnS0,( s)
2 o ) .
CO, NO 368 kJ-134 kJ =234 AH=-248 kJ * mol
k] : MnO,( s) +S0,( g) =—=MnS0,( s)
- _ . -1

NO,( g) +CO( g) ==NO( g) +CO( g) AH=-248 k] * mol

AH=-234 k] * mol ™'
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